
MATHS

BOOKS - KC SINHA MATHS (HINGLISH)

SINE AND COSINE FORMULA - FOR BOARDS

Solved Examples

1. If in any , then �nd 

Watch Video Solution

ΔABC, A = 30∘ and B = 60∘
a : b : c

2. If in any , then �nd 

Watch Video Solution

ΔABC, B = 60∘ and b : c = √3: √2 A.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bgaYnhtuccCn
https://dl.doubtnut.com/l/_LtJEjUrCAemJ


3. If in  �nd the greatest angle.

Watch Video Solution

ΔABC, a = 3, b = 5, c = 7

4. If in  and , then

prove that 

Watch Video Solution

ΔABC, a = , b =
1

(√6 − √2)

1

(√6 + √2)
C = 600

c =
√3

2

5. In any , prove that : 

.

Watch Video Solution

ΔABC

a
2 + b

2 + c
2 = 2(bc cosA + ca cosB + ab cosC)

6. In any , prove that : .

Watch Video Solution

ΔABC a(b cosC − c cosB) = b
2 − c

2

https://dl.doubtnut.com/l/_42WUcM4XqZ83
https://dl.doubtnut.com/l/_FZyXpX5b3yDP
https://dl.doubtnut.com/l/_koiqLKg5kBki
https://dl.doubtnut.com/l/_l3PrpmRFNrJT


7. In any , prove that 

Watch Video Solution

ΔABC (a − b)
2

cos2 + (a + b)
2

sin2 = c
2.

C

2

C

2

8. If in any , prove that the greatest angle is

doule the smalles angle`

Watch Video Solution

ΔABC, a : b : c = 4: 5: 6

9. The sides of a triangle are . Prove that the

greatest angle is double the smallest angle.

Watch Video Solution

8cm, 10cm and 12cm

10. In any parallelogram if  are the length of the two non-parallel

sides,  is the angle measure between these two sides and  is the length

a and b

θ d

https://dl.doubtnut.com/l/_ly8M5KRoNfui
https://dl.doubtnut.com/l/_A1Ok2Ya6gpOP
https://dl.doubtnut.com/l/_bLe9q5C9cjZ4
https://dl.doubtnut.com/l/_pMjakcSJ77y2


of the diagonal that has a common vertex with sides , then show

that the measure of  can be given be : 

Watch Video Solution

a and b

d d
2 = a

2 + b
2 + 2ab cos x

11. With usual notations, if in a triangle  ,

then prove that: 

Watch Video Solution

ABC = =
b + c

11
c + a

12
a + b

13

= =
cosA

7

cosB

19

cosC

25

12. If in a triangle  then prove that 

 .

Watch Video Solution

ABC, ∠C = 600,

+ =
1

a + c

1

b + c

3

a + b + c

13. Find the unknown parts of  if 

.

Watch Video Solution

ΔABC

a = √3 + 1, b = √3 − 1, C = 600

https://dl.doubtnut.com/l/_pMjakcSJ77y2
https://dl.doubtnut.com/l/_5UIMsflZ5Ws1
https://dl.doubtnut.com/l/_BPD9zwED9Tw3
https://dl.doubtnut.com/l/_isE1hnIUowFR


14. In any , prove that : 

Watch Video Solution

ΔABC

(b + c)cosA + (c + a)cosB + (a + b)cosC = a + b + c

15. In any , prove that : 

Watch Video Solution

ΔABC

+ + =
cosA

b cosC + c cosB

cosB

c cosA + a cosC

cosC

c cosB + b cosA

a2 + b2 + c2

2abc

16. In any , prove that : 

Watch Video Solution

ΔABC

2(b cos2( ) + c cos2( )) = a + b + c
C

2
B

2

https://dl.doubtnut.com/l/_isE1hnIUowFR
https://dl.doubtnut.com/l/_zzCkWyWBjtEk
https://dl.doubtnut.com/l/_JW15mU8BsMZL
https://dl.doubtnut.com/l/_ki0QMTFhEVdm


17. In any , prove that : 

Watch Video Solution

ΔABC

2(a sin2( ) + c sin2( )) = a + c − b
C

2

A

2

18. In any triangle  prove that: 

Watch Video Solution

ABC sin( ) = ( )
B − C

2
b − c

a

cosA

2

19. In any  prove that : 

Watch Video Solution

ΔABC =
sin(A − B)

sin(A + B)

a2 − b2

c2

20. Prove that in any

Watch Video Solution

ΔABC, a sin(B − C) + b sin(C − A) + c sin(A − B) = 0

https://dl.doubtnut.com/l/_mugWYSiYWK5f
https://dl.doubtnut.com/l/_oiZbfdiRtss5
https://dl.doubtnut.com/l/_Sweq3pRrIBsZ
https://dl.doubtnut.com/l/_GOGE6E15Qpl0


21. Prove that in any

Watch Video Solution

ΔABC, a(sinB − sinC) + b(sinC − sinA) + c(sinA − sinB) = 0

22. In a triangle , prove that : .

Watch Video Solution

ABC a sin( + B) = (b + c)sin( )
A

2

A

2

23. In any , prove that 

Watch Video Solution

ΔABC =
sinB

sinC

c − a cosB

b − a cosC

24. In any , prove that : 

Watch Video Solution

ΔABC ( ) =
a − b

c

tan( ) − tan( )A

2
B

2

tan( ) + tan( )A

2
B

2

https://dl.doubtnut.com/l/_ZaO2t4iZvikl
https://dl.doubtnut.com/l/_ldJM6VpJNupf
https://dl.doubtnut.com/l/_8b9vRp4uvGWS
https://dl.doubtnut.com/l/_9sra865ak2pT
https://dl.doubtnut.com/l/_e739z42Xkq6I


25. If in , prove that : .

Watch Video Solution

ΔABC, =
tanA − tanB

tanA + tanB

c − b

c
A = 600

26. If  are in A.P., then prove that  are in A.P.

Watch Video Solution

a
2, b2, c2 cot A, cot B, cot C

27. Problem on sine rule Type:-1(i) In a  ; If 

 ;�nd  (ii) In a ; the angle of a

triangle are in AP ; It is being given that 

Watch Video Solution

ΔABC

a = 2; b = 3 and sinA =
2

3
∠B ΔABC

b : c = √3: √2

28. For any triangle ABC, prove that 

Watch Video Solution

⎛

⎝

sin(B − C)

sin(B + C) =
b2 − c2

a2

https://dl.doubtnut.com/l/_e739z42Xkq6I
https://dl.doubtnut.com/l/_Y1A6gHqyvh0C
https://dl.doubtnut.com/l/_leT4KAwj16PS
https://dl.doubtnut.com/l/_zBpxO59oF7vu


29. In , prove that

Watch Video Solution

ΔABC

a
3 cos(B − C) + b

3 cos(C − A) + c
3 cos(A − B) = 3abc

30. In any ABC, prove that

Watch Video Solution

sin 2A + sin 2B + sin 2C = 0
b2 − c2

a2

c2 − a2

b2

a2 − b2

c2

31. In any triangle  prove that: 

Watch Video Solution

ABC,

 a3 sin(B − C) + b
3 sin(C − A) + c

3 sin(A − B) = 0

32. In any , prove that : ΔABC

a cosA + b cosB + c cosC = 2a sinB sinC

https://dl.doubtnut.com/l/_582VKo5CzvuP
https://dl.doubtnut.com/l/_HiKBTrAaZkLu
https://dl.doubtnut.com/l/_4K8hQ5M0aAE5
https://dl.doubtnut.com/l/_o9KpLi2zGXTY


Watch Video Solution

33. For any triangle ABC, prove that

Watch Video Solution

(b2
c

2)\ cotA\ + \ (c2
a

2)\ cotB\ + \ (a2
b

2)\ cotC\ = \ 0

34. In a triangle  if  show that the triangle is

either isosceles or right angled.

Watch Video Solution

ABC, a cosA = b cosB,

35. In any triangle.  , then prove that the

triangle is either right angled or isosceles.

Watch Video Solution

if =
a2 − b2

a2 + b2

sin(A − B)

sin(A + B)

https://dl.doubtnut.com/l/_o9KpLi2zGXTY
https://dl.doubtnut.com/l/_s6VbrJetTM5L
https://dl.doubtnut.com/l/_2MDhDtc5Sl4e
https://dl.doubtnut.com/l/_FFpphclIMeiS


36. In , �nd the value of : 

Watch Video Solution

ΔABC, a = 3, b = 5, c = 6 sin( )
A

2

37. In , �nd the value of : 

Watch Video Solution

ΔABC, a = 3, b = 5, c = 6 cos( )
A

2

38. In , �nd the value of : 

Watch Video Solution

ΔABC, a = 3, b = 5, c = 6 tan( )
A

2

39. In , �nd the value of : 

Watch Video Solution

ΔABC, a = 3, b = 5, c = 6 cot( )
A

2

https://dl.doubtnut.com/l/_mJlubQOrZLer
https://dl.doubtnut.com/l/_RElVKIXZTIPE
https://dl.doubtnut.com/l/_LYC1jbcznZ0A
https://dl.doubtnut.com/l/_ooocv3tLpd2T


40. In any , porve that 

Watch Video Solution

ΔABC

(a + b − c)cot( ) = (a − b + c)cot( )
B

2

C

2

41. If in , �nd the condition of 

Watch Video Solution

ΔABC, (a + b + c)(b + c − a) = abc a

42. In any , prove that:

Watch Video Solution

ΔABC = tan( )tan( )
a + b − c

a + b + c

A

2
B

2

43. In any , prove that : 

Watch Video Solution

ΔABC 2(a + c ) = a + c − b
sin2

C

2
sin2

A

2

https://dl.doubtnut.com/l/_Fj9psLYI5J8V
https://dl.doubtnut.com/l/_2s469CSayVl7
https://dl.doubtnut.com/l/_xvRu0bpJX1ok
https://dl.doubtnut.com/l/_6bfDUzsmbrBW


44. In any , prove that 

Watch Video Solution

ΔABC

cot( ) + cot( ) + cot( ) = cot( )
A

2
B

2

C

2
a + b + c

b + c − a

A

2

45. Show that in any triangle

Watch Video Solution

ABC, (a + b + c)(tan( ) + tan( )) = 2c cot( )
A

2
B

2
C

2

46. In any triangle ABC, show that :

Watch Video Solution

2a sin( )sin( ) = (b + c − a)sin( )
B

2
C

2

A

2

47. In any triangle ABC, show that :

2a cos( )cos( ) = (a + b + c)sin( )
B

2
C

2
A

2

https://dl.doubtnut.com/l/_zGqxsfSALVG4
https://dl.doubtnut.com/l/_IrTD0ByrGEzr
https://dl.doubtnut.com/l/_kjLk67uPeMip
https://dl.doubtnut.com/l/_bJIXgHLMihVs


Watch Video Solution

48. If in , reciprocals of the sides  are in A.P., prove that : 

 are in A.P.

Watch Video Solution

ΔABC a, b, c

cos ec2 , cos ec2 , cos ec2A

2
B

2

C

2

49. In , if , prove that 

Watch Video Solution

ΔABC ∠B = 900 tan( ) = √
A

2

b − c

b + c

50. In , if , then prove that 

Watch Video Solution

ΔABC ∠C = 900

tan( ) = √ =
A

2
c − b

c + b

a

b + c

51. Find the area of  if : ΔABC a = 6, b = 8, C = 300

https://dl.doubtnut.com/l/_bJIXgHLMihVs
https://dl.doubtnut.com/l/_uvuP1owUJekO
https://dl.doubtnut.com/l/_6mMAxVcyqm4b
https://dl.doubtnut.com/l/_60IR0bjXozPS
https://dl.doubtnut.com/l/_pvq144gb0LtE


Watch Video Solution

52. Find the area of  if : 

Watch Video Solution

ΔABC a = 18, b = 24, C = 30

53. In any , prove that 

Watch Video Solution

ΔABC Δ =
b2 + c2 − a2

4 cot A

54. In any , prove that 

Watch Video Solution

ΔABC b
2 sin 2C + c

2 sin 2B = 2bc sinA = 4Δ

55. In a triangle ABC, prove that

W t h Vid S l ti

=
cot( ) + cot( ) + cot( )A

2
B

2
C

2

cot A + cot B + cot(C)

(a + b + c)2

a2 + b2 + c2

https://dl.doubtnut.com/l/_pvq144gb0LtE
https://dl.doubtnut.com/l/_oOMSe4mAcZET
https://dl.doubtnut.com/l/_A4Dsq0qAWEDl
https://dl.doubtnut.com/l/_CS6p2YpQXQ6f
https://dl.doubtnut.com/l/_nb6oEKJE96jR


Exercise

Watch Video Solution

56. In any  ,  are in , then

Watch Video Solution

ΔABC cot( ), cot( ), cot( )
A

2

B

2

C

2
A. P .

57. If . To prove: 

 are in A.P.

Watch Video Solution

a cos2( ) + c cos2( ) =
C

2

A

2

3b

2

cot( ), cot( ), cot( )
A

2
B

2

C

2

58. If  and  are the altitudes of a triangle from vertices  and 

 respectively and  is the area of the triangle, then the value of 

Watch Video Solution

P1, P2 P3 A, B

C Δ

+ − =
1

P1

1

P2

1

P3

https://dl.doubtnut.com/l/_nb6oEKJE96jR
https://dl.doubtnut.com/l/_aK5zjvW1NpEH
https://dl.doubtnut.com/l/_yuRwK2cqyQwA
https://dl.doubtnut.com/l/_PeRUcdLZdKBi


1. The ratio of angles in a triangle  is  then prove that 

Watch Video Solution

ABC 2: 3: 7

a : b : c = √2: 2: (√3 + 1)

2. If in , then �nd .

Watch Video Solution

ΔABC, a = 4, b = 12, ∠B = 300 sinA

3. In any , prove that 

Watch Video Solution

ΔABC =
sinB

sin(B + C)

b

a

4. If the two angles of a triangle are  and the included side is 

 cm, �nd the other sides of the triangle).

Watch Video Solution

300 and 450

(√3 + 1)

https://dl.doubtnut.com/l/_bylOQFbH2cLn
https://dl.doubtnut.com/l/_x8KYUF3JwHsq
https://dl.doubtnut.com/l/_FQBEv7IRGRkT
https://dl.doubtnut.com/l/_7a1XRxTJLHuZ
https://dl.doubtnut.com/l/_g2Bftci3dMUX


5. The angless of a triangle are in the proportion , prove that the

ratio of the least side to the greatest is .

Watch Video Solution

7: 2: 1

3 − √5: 2

6. In , if , �nd  and angle .

Watch Video Solution

ΔABC c = 3.4cm, A = 250, B = 852
a, b C

7. Find the greatest angle of  if : 

Watch Video Solution

ΔABC a = 2, b = √6, c = √3 − 1

8. Find the greatest angle of  if : 

Watch Video Solution

ΔABC

a = m, b = n, c = √m
2 + mn + n

2

https://dl.doubtnut.com/l/_g2Bftci3dMUX
https://dl.doubtnut.com/l/_cG3TrqBHSXtg
https://dl.doubtnut.com/l/_kdJyEKqlwBnC
https://dl.doubtnut.com/l/_fTujpXHh9oli
https://dl.doubtnut.com/l/_fNu6GBZ13S92


9. Inf , if , �nd 

Watch Video Solution

ΔABC a = 25, b = 52 and c = 63 cosA

10. In a  prove the following : In a  if 

 , �nd 

Watch Video Solution

ABC, ABC,

a = 18,  b = 24,  c = 30 cosA,  cosB and cosC.

11. In any , if , then prove that 

Watch Video Solution

ΔABC B = 600 (c − a)2 = b
2 − ca

12. If the sides of a triangle are 3, 5, and 6, prove that the triangle is

obtuse - angled triangle and �nd the obtuse angle.

Watch Video Solution

https://dl.doubtnut.com/l/_fNu6GBZ13S92
https://dl.doubtnut.com/l/_9q1i0LZcJ17j
https://dl.doubtnut.com/l/_NmRg2ucf8lNF
https://dl.doubtnut.com/l/_UWr9XGG0U2pr
https://dl.doubtnut.com/l/_Jq6Wp6j7DX12


13. In any , prove that : 

Watch Video Solution

ΔABC =
b2 + c2 − a2

(c2 + a2 − b)
2

tanB

tanA

14. In a triangle ,  prove that 

or 

Watch Video Solution

ABC a
4 + b

4 + c
4 = 2c2(a2 + b

2) C = 45∘

135∘

15. In , prove that : 

Watch Video Solution

ΔABC =
c − b cosA

b − c cosA

cosB

cosC

16. In , then �nd the value of 

.

Watch Video Solution

ΔABC, a = 4, b = 6, c = 8

8 cosA + 16 cosB + 4 cosC

https://dl.doubtnut.com/l/_Jq6Wp6j7DX12
https://dl.doubtnut.com/l/_eg6DPp9yWr0M
https://dl.doubtnut.com/l/_21nxbE1P5ZBK
https://dl.doubtnut.com/l/_oKrTwzh4UnC2
https://dl.doubtnut.com/l/_LnO53lSRCxO4


17. In any , prove that : .

Watch Video Solution

ΔABC (b + c)cos( ) = a cos( )
B + C

2

B − C

2

18. In any , prove that : 

Watch Video Solution

ΔABC =
a + b

c

cos( )A−B

2

sin( )C

2

19. In any , prove that : 

Watch Video Solution

ΔABC =
a − b

c

sin( )A−B

2

cos( )C

2

20. In any , prove that : If , then prove

that .

Watch Video Solution

ΔABC b + c = 2a cos( )
B − C

2

A = 600

https://dl.doubtnut.com/l/_LnO53lSRCxO4
https://dl.doubtnut.com/l/_OIcLHm4V0Beq
https://dl.doubtnut.com/l/_pdXqkFyeWJIs
https://dl.doubtnut.com/l/_jndp6Zq1BBlx


21. In any , prove that : 

Watch Video Solution

ΔABC

(b2 − c
2)cos 2A + (c2 − a

2)cos 2B + (a2 − b
2)cos 2C = 0

22. In any , prove that : 

Watch Video Solution

ΔABC =
1 + cos(A − B)cosC

1 + cos(A − C)cosB

a2 + b2

a2 + c2

23. In any , prove that : 

Watch Video Solution

ΔABC

+ + = 0
b2 − c2

cosB + cosC

c2 − a2

cosC + cosA

a2 − b2

cosA + cosB

24. In any , prove that : 

Watch Video Solution

ΔABC

+ + = 0
a

2 sin(B − C)

sinB + sinC

b
2 sin(C − A)

sinC + sinA

c
2 sin(A − B)

sinA + sinB

https://dl.doubtnut.com/l/_f5jhURkoz6XL
https://dl.doubtnut.com/l/_pFhBbPeqWA74
https://dl.doubtnut.com/l/_ilhC7xMOp6I1
https://dl.doubtnut.com/l/_hNi0WZDn2iko


25. In any , prove that : 

Watch Video Solution

ΔABC =
b2 − c2

a2

sin(B − C)

sin(B + C)

26. In any , prove that : 

Watch Video Solution

ΔABC tan( + B) = tan( )
A

2
c + b

c − b

A

2

27. In any , prove that : 

Watch Video Solution

ΔABC

a
2(cos2

B − cos2
C) + b

2(cos2
C − cos2

A) + c
2(cos2

A − cos2
B) = 0

28. If , then prove that either  or 

Watch Video Solution

A = 2B c = b a
2 = b(c + b)

https://dl.doubtnut.com/l/_hNi0WZDn2iko
https://dl.doubtnut.com/l/_7etadZhCdJg5
https://dl.doubtnut.com/l/_v4f2PvoVIK1Q
https://dl.doubtnut.com/l/_F8OIb2n9yBJw
https://dl.doubtnut.com/l/_3jlqK3AxG9ED


29. In any , prove that : 

Watch Video Solution

ΔABC

+ = + = +
cosA

a

a

bc

cosB
b

b

ca

cos c
c

c

ab

30. In , if , prove that 

Watch Video Solution

ΔABC A + C = 2B

2 cos( ) =
A − C

2

a + c

√a2 − ac + c2

31. In any , prove that  

Watch Video Solution

ΔABC

− = ( − )
cos 2A

a2

cos 2B

b2

1

a2

1

b2

32. In any , prove that : ΔABC

(b2 − c
2)sin2

A + (c2 − a
2)sin2

B + (a2 − b
2)sin2

C = 0

https://dl.doubtnut.com/l/_qvqRAdLscjP8
https://dl.doubtnut.com/l/_Zht67MhRHfC4
https://dl.doubtnut.com/l/_xiNjO2Ge7Pbe
https://dl.doubtnut.com/l/_sLaq4tyZp5ug


Watch Video Solution

33. In any , prove that : 

Watch Video Solution

ΔABC

+ + = 0
a2 sin(B − C)

sinA

b2 sin(C − A)

sinB

c2 sin(A − B)

sinC

34. The median  of a  is perpendicular to AB, prove that 

Watch Video Solution

AD ΔABC

tanA + 2 tanB = 0

35. In a , If tan A/2, tan B/2, tan C/2 are in A.P. then cos A. cos B, cos

C are in

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_sLaq4tyZp5ug
https://dl.doubtnut.com/l/_0Bl4Usv0rdhb
https://dl.doubtnut.com/l/_JDSpVABWFbdL
https://dl.doubtnut.com/l/_7tToLCV1aQYc


36. If  , prove that  are in A.P.

Watch Video Solution

=
sinA

sinC

sin(A − B)

sin(B − C)
a

2, b2, c2

37. If in , �nd 

Watch Video Solution

ΔABC, a = 15, b = 36, c = 39 tan( )
A

2

38. In a , if , �nd : 

Watch Video Solution

ΔABC a = 18, b = 24, c = 30

tan( ), tan( ), tan( )
A

2

B

2

C

2

39. In any , prove that : 

Watch Video Solution

ΔABC

cos2( ) + cos2( ) + cos2( ) = 0
b − c

a

A

2

c − a

b

B

2

a − b

c

C

2

https://dl.doubtnut.com/l/_IQOW8JmjC8UO
https://dl.doubtnut.com/l/_T7TcsN12fz7t
https://dl.doubtnut.com/l/_IPCtSCGHoKlS
https://dl.doubtnut.com/l/_l6JIJJwmKiaB


40. In any , prove that : 

Watch Video Solution

ΔABC 1 − tan( )tan( ) =
A

2
B

2

2c

a + b + c

41. In  prove that 

Watch Video Solution

ΔABC

a
2 + b

2 + c
2 = 2(bc cosA + ca cosB + ab cosC)

42. In any , prove that : 

Watch Video Solution

ΔABC

+ + =
cos2( )A

2

a

cos2( )B

2

b

cos2( )C

2

c

s3

abc

43. In , prove that : 

Watch Video Solution

ΔABC

(cot( ) + cot( ))(a sin2( ) + b sin2( )) = c cot( )
A

2
B

2
B

2
A

2
C

2

https://dl.doubtnut.com/l/_y4jjEFMxqAvf
https://dl.doubtnut.com/l/_rE4prFLdqQOv
https://dl.doubtnut.com/l/_8aLTvR9rXxuX
https://dl.doubtnut.com/l/_1VMEkqyV2xc9


Watch Video Solution

44. In , 

Watch Video Solution

ΔABC tan, tan, tan, = √(1 − )(1 − (1 − ))
A

2
B

2
C

2
a

s

b

s

c

s

45. If in a  are in A.P., show that 

Watch Video Solution

ΔABC, sinA, sinB, sinC

3 tan, tan, = 1
A

2
C

2

46. In any , prove that 

Watch Video Solution

ΔABC

(b + c − a)(cot, + cot, ) = 2a cot,
B

2
C

2

A

2

https://dl.doubtnut.com/l/_1VMEkqyV2xc9
https://dl.doubtnut.com/l/_EkymGG3lGKVr
https://dl.doubtnut.com/l/_tWdzG2anH32M
https://dl.doubtnut.com/l/_UroYtLj8hm6J


47. In any , prove that 

Watch Video Solution

ΔABC

(b + c − a)( + ) = 2a cot,
cot B

2

cot C

2

A

2

48. In a , in the sum of two sides is  times their di�erence and

the included angle is , �nd the di�erence of the remaining angles.

Watch Video Solution

ΔABC √3

600

49. If in , the di�erence of two angles is  and the remaining

angle is , then �nd the ratio of the sides opposite to �rst two angles.

Watch Video Solution

ΔABC 600

300

50. Find the area of  if : 

Watch Video Solution

ΔABC a = 18, b = 24, C = 30

https://dl.doubtnut.com/l/_leyWFng9VydN
https://dl.doubtnut.com/l/_otiTDl1uTiM7
https://dl.doubtnut.com/l/_z5EoHWBXtorf
https://dl.doubtnut.com/l/_10T72tEyBjIQ


51. The side of a triangle are in A.P. Its area is  the of an equilateral

triangle of the same perimeter. Show that the sides are in the proportion

.

Watch Video Solution

3

5

3: 5: 7

52. The sides of a quadrilateral are 3, 4, 5 and 6 cms. The sum of a pair of

opposite angles is Show that the area of the quadrilateral is 

sq.cm.

Watch Video Solution

1200. 3√30

https://dl.doubtnut.com/l/_10T72tEyBjIQ
https://dl.doubtnut.com/l/_jrq3PlRwVHI3
https://dl.doubtnut.com/l/_tUGI0RWGgW6G

